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This Question: 1 pt This Test: 7 pts  Time Limit: 02:00:00 00f7 complete

“The table below shows the resulis of a survey in which 146 families were asked if they own a
computer and i they will be taking a summer vacation this year.

Summer Vacation This Year =

Yes  No  Totl
Own Yes 46 1 57
a Mo 56 3 89
Computer Toral 102 44 146

(3) Find the probabily that a randomly selected family is not taking a summer vacation this
year

‘The probabiiy is [ ]. (Round to the nearest thousandth as needed.)
(6) Find the probabilty that a randomly selected family awns a computer.
‘The probabiiy is [ ]. (Round to the nearest thousandth as needed.)

(c) Find the probabily a randomly selected famiy is taking a summer vacation this year
given that they own a computer.

Click to select your answer(s), then click Next or Previous.
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(&) Find the probabily a randomly selected family is taking a summer vacation this year and
owns a computer

The probabilty is | | (Round to the nearest thousandth as needed)

(¢) Are the events of owning a computer and taking a summer vacation this year independent
or dependent events?

Dependent
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Outside a home, there i an 8-key keypad with letters 4, B, C, D, E, F, G and H that can be
used to open the garage if the correct eightlefter code i entered. Each key may be used only

once. How many codes are possible?

The number of possible codes is ]
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About 9% of the population s hopelessly romantic. If twa people are randomly selected, what is
the probabiity both are hopelessly romantic? What i the probabilty at least one is
hopelessly romantic?

(3) The probabilty that both will be hopelessly romantic is [ ]
(Round to four decimal places as needed.)

(b) The probailty that at least one person is hopelessly romantic is [ ]
(Round to four decimal places as needed.)
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Perform the indicated calculation

[ (Round to four decimal places as needed.)

00f7 complete

L]
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& password consists of three letters folowed by a three-digit number.

(3) How many passwords are possible i there are no restrictions?

O

(6) How many passwords are possible if none of the ltters or digits can be repeated?

O

(c) Whatis the probabily of guessing the password in one rial i there are no restrictions?

O# 0.0000000850
OB, 0.6390532544
OC. 0.0000000569
OD. D.1666666667
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This Question: 1 pt

“The table below shows the mumber of male and female students enrolled in mursing at a
university for a certain semester. A student s selected at random. Complete parts (a) through

@

Nursingmajors  Non-tursing majors  Total ~ ©
Males 91 1012 1103
Females 700 1721 2421
Total 71 2733 3524

(3) Find the probabily that the siudent is male or a nursing major.

P(being male or being nursing major) =[_|
(Round to the nearest thovsandth as needed.)

(5) Find the probabily that the sdentis female or not a nursing major.

P(being female or not being a nursing major) =[]
(Round to the nearest thovsandth as needed.)

(c) Find the probabily that the studentis not female or a nursing major.
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(d) Are the events "being male" and "being a mursing major” munally exclsive? Explain.

Ves, becavse there are 91 males majoring in nursing

Mo, because there are 91 males majoring in nursing

€ Yes, because one can't be male and a nursing major af the same time.

0. No, because one can't be male and a mursing major at the same fime
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This Question: 1 pt

This Test: 7 pte

Time Limit: 02,0000

007 complete | 2
Evaluate the given expression and express the result using the vsual format for writing mumbers
(instead of scienfific nofation).





